
=LPDB����

*UXSD�5R]NãDG������$.6�/����:��7\J������

�������������7\J����

3RGVWDZ\�NRPXQLNDFML
LQWHUSHUVRQDOQHM� GU�0LNOHZVND
$JQLHV]ND� ���$.6�/����:

:\NáDG�Z�IRUPLH�]GDOQHM�

�������������7\J�����

3RGVWDZ\�ILOR]RILL��Z�� GU�KDE�SURI�
QDG]Z��7DUQRSROVNL�$QGU]HM� ���$.6�/�
���:

:�\NáDG�Z�IRUPLH�]GDOQHM�

�������������7\J����

0HWRG\�XF]HQLD�VLĊ�L�VWXGLRZDQLD��Z��
GU�'XGD�:LROHWD� ���$.6�/����:�����
%1�/����:�����3�/����:�����335�/�
���:�����33:�'����:�����36�/���
:�����363�'����:��7\J����������36<�
'����:�����7,5�/����:

:�W\J���]DMĊFLD����PLQ�:\NáDG�Z
IRUPLH�]GDOQHM�

�������������7\J��������������

3RGVWDZ\�SV\FKRORJLL��:�� GU�KDE�
1DSRUD�(OĪELHWD� ���$.6�/����:

Z\NáDG�Z�IRUPLH�]GDOQHM

�������������7\J�������

3RGVWDZ\�VRFMRORJLL� GU�/HQLN
6WDQLVáDZ� ���$.6�/����:

:\NáDG�Z�IRUPLH�]GDOQHM�

�������������7\J�����

0HWRG\�XF]HQLD�VLĊ�L�VWXGLRZDQLD��Z��
GU�'XGD�:LROHWD� ���$.6�/����&������
3�/����&�

:\NáDG�GOD�JUXS\�&��3HGDJRJLND�L
JUXS\�&��$.6��:�W\J����]DMĊFLD���
PLQ��:\NáDG�Z�IRUPLH�]GDOQHM�

�������������7\G]���

3RGVWDZ\�SV\FKRORJLL� GU
KDE��1DSRUD�(OĪELHWD� ��
�$.6�/����:

�������������7\G]���

3RGVWDZ\�NRPXQLNDFML
LQWHUSHUVRQDOQHM� GU�0LNOHZVND
$JQLHV]ND� ���$.6�/����:

=DMĊFLD�Z�IRPLH�]GDOQHM�SR
QL

HG
]L

Dã
HN

�������������7\J����������

3RGVWDZ\�NRPXQLNDFML
LQWHUSHUVRQDOQHM� GU�0LNOHZVND
$JQLHV]ND� =%������ ���$.6�/����&�

�������������7\J������

2FKURQD�ZáDVQRĞFL�LQWHOHNWXDOQHM� PJU
:UyEHO�-XVW\QD� =%������ ���$.6�/�
���&�

�������������7\J�������������

3RGVWDZ\�VRFMRORJLL��üZ�� PJU
3DUDGRZVNL�5DIDá� =%�����
.20387(52:$� ���$.6�/����&�

�������������7\J������

3RGVWDZ\�VRFMRORJLL� PJU�3DUDGRZVNL
5DIDá� =%������ ���$.6�/����:

�������������7\J������

7HFKQLNL�SUDF\�XP\VáRZHM��üZ�� GU
0LNOHZVND�$JQLHV]ND� =%������ ���
$.6�/����:

�������������7\J���������

3RGVWDZ\�ILOR]RILL��üZ�� GU�KDE�SURI�
QDG]Z��7DUQRSROVNL�$QGU]HM� =%������
���$.6�/����&�

�������������7\G]��

'RĞZLDGF]HQLH�VSRáHF]QH� GU�/HQLN
6WDQLVáDZ� :����� ���$.6�/����&�

�������������7\G]���

3RGVWDZ\�VRFMRORJLL��üZ�� =%�����
.20387(52:$� ���$.6�/����:

�������������7\G]���

3RGVWDZ\�SV\FKRORJLL� PJU�.LHOLĔVND
-XOLWD� =%������ ���$.6�/����&�

�������������7\J������

7HFKQLNL�SUDF\�XP\VáRZHM��üZ�� GU
0LNOHZVND�$JQLHV]ND� =%������ ���
$.6�/����&�

�������������7\J����

7HFKQLNL�SUDF\�XP\VáRZHM��üZ�� GU
0LNOHZVND�$JQLHV]ND� =%������ ���
$.6�/����:

Z
WR

UH
N

�������������7\J���������

'RĞZLDGF]HQLH�VSRáHF]QH� GU�/HQLN
6WDQLVáDZ� =%������ ���$.6�/����&�

�������������7\J����

'RĞZLDGF]HQLH�VSRáHF]QH� GU�/HQLN
6WDQLVáDZ� =%������ ���$.6�/����&�

�������������7\J������

3RGVWDZ\�SV\FKRORJLL� PJU�.LHOLĔVND
-XOLWD� =%������ ���$.6�/����&�

�������������7\G]��

7HFKQLNL�SUDF\�XP\VáRZHM��üZ�� GU
0LNOHZVND�$JQLHV]ND� :���� ���$.6�
/����:

�������������7\G]��

3RGVWDZ\�VRFMRORJLL��üZ�� PJU
3DUDGRZVNL�5DIDá� :����� ���$.6�/�
���&�

�������������7\G]���

7HFKQRORJLD�LQIRUPDF\MQD��ODE�� GU
6RáW\VLDN�:LROHWWD� :����
.20387(52:$� ���$.6�/����/�

�������������7\J������

7HFKQRORJLD�LQIRUPDF\MQD��ODE�� GU
6RáW\VLDN�:LROHWWD� :����� ���$.6�/�
���/�

�������������7\G]���

2FKURQD�ZáDVQRĞFL�LQWHOHNWXDOQHM� PJU
:UyEHO�-XVW\QD� :����
.20387(52:$� ���$.6�/����:

ĤU
RG

D
&

]

�������������7\J�����

���$.6�/����:

=DMĊFLD�]�:\FKRZDQLD�IL]\F]QHJR�UHDOL]XMH��6WXGLXP�:\FKRZDQLD�)L]\F]QHJR�RG�SRQLHG]LDáNX�GR�SLąWNX�]D�SRPRFą�LQG\ZLGXDOQ\FK�]DSLVyZ�SRGJOąG�VDOH�$&6

3
W

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG������$.6�/����:��7\J������

6
R

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


